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CLASS: III              SUB: MATHEMATICS                Max. Marks: 30  
  

 Submission Date: 1th Feb 2021          

1) Fill in the blanks:                  (10) 

i) In 7805, the place value of 8 is ________ and the face value of 5 is ________. 

ii) VII - V = _______. 

iii) Successor of 8999 is ________. 

iv) 3501 + ______ = 3501 

v)  Put sign >, < or = : XXIII _____ XXVIII 

vi) 1882 x 0 = ________ 

vii)  Expanded form for 4176 = _______________________. 

viii)  Using digits 6, 0, 1, 5, the greatest number formed is ______ and smallest number formed is _____. 

ix) The greatest 4 digit number is ________.  

x) 5321 x 234 = ______ x 5321.                   

2) Answer in one word:           (5) 

i) What is the predecessor of 3000? _________  

ii) Write the number name of 8080. _______________________________. 

iii) Arrange in descending order: 2136, 5136, 5236, 6136 - ______, ______, ______, ______ 

iv) Write the short form of 6000+40+8. ____________. 

v) Arrange in ascending order: 4129, 2129, 4912, 3192 - ______, ______, ______, ______ 

3) Match the following:           (5) 

i. XXIV a. 9870 

ii. 1357 + 1000 b. 3357 

iii. 9870 – 0 c. 24 

iv. 3357 x 1 d. 2400 

v. 300 x 8 e. 2357 

 

4) Add the following using column method:        (2) 

i. 4523 + 1489     ii. 4016 + 2432 +101 

 

5) Subtract using column method:         (2) 

i. 8523 – 4076     ii. 3208 from 7349 



 

6) Multiply the following:          (2) 

           i. 349 x 25      ii. 3201 x 7 

7) Solve the word problems:          (4) 

    i. A flower shop has 1354 roses and 1505 marigold flowers. How many flowers are there in total? 

                ii. Anita bought a book consisting of 1350 pages. He read 992 pages last week. How many pages are                    

remaining to be read? 
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